CITY OF EL PASO, TEXAS AGENDA ITEM DEPARTMENT HEAD'S SUMMARY FORM

AGENDA DATE: March 15, 2022 PUBLIC HEARING DATE: Not Applicable

CONTACT PERSON(S) NAME AND PHONE NUMBER:

Sam Rodriguez, Chief Operations and Transportation Officer, Aviation Director

and City Engineer, (915) 212-1845

Richard Bristol, Director, Streets and Maintenance (915) 212-7015

DISTRICT(S) AFFECTED: All

STRATEGIC GOAL: No. 7 – Enhance and Sustain El Paso's Infrastructure Network

SUBGOAL: 7.2 – Improve competitiveness through infrastructure improvements impacting

the quality of life

SUBJECT:

That the City Council approves a change order in the amount of \$3,310,893.80 to ZTEX Construction, Inc. for Contract 2019-882 Street Resurfacing 2019.

BACKGROUND / DISCUSSION:

In accordance with Texas statute, any increase or decrease to the contract value exceeding \$50,000 requires approval by the governing body. This change order is to increase this contract amount by \$3,310,893.80 to provide additional capacity and increase the contract units for the execution of the Capital Street Resurfacing Program. This secures 2019 prices.

SELECTION SUMMARY:

N/A

CONTRACT VARIANCE:

N/A

PROTEST

N/A

PRIOR COUNCIL ACTION:

On July 23, 2019, City Council approved the award of contract 2019-882 Street Resurfacing 2019 to ZTEX Construction, Inc. for an estimated total amount of \$6,670,706.00 with an offer to extend the term of the contract 100% of the original contract quantities for one term of five hundred and forty-five (545) consecutive calendar days for an estimated total contact amount of \$13,341,412.00.

AMOUNT AND SOURCE OF FUNDING:

Amount: \$3,310,893.80

Funding Source: Street Maintenance Fund – Public Access Maintenance Contracts

Account: 532 - 2560 - 522270 - 32120

HAVE ALL AFFECTED DEPARTMENTS BEEN NOTIFIED? _X__ YES ___NO

PRIMARY DEPARTMENT: Streets and Maintenance Department **SECONDARY DEPARTMENT:** Purchasing & Strategic Sourcing

2019-882 Street Resurfacing 2019

Revised 2/23/2022-V2 - Previous Versions Obsolete

QUANTITY !	IOTICE NUMBER	1	DATE:	February 11.	2022		×	SCOPE C	HANGE
ROJECT:	Street R	esurfacing 2019		SOLICITATION NO.	2019-882			CONSTRUCTION CHANGE	
	Orlain	al Contract Amount:	8 13 341,412,00		Con				
	Net Change by previ						ime to Subtantial (o Change Ordera :		1090
Net Chan	ge by previous Constructi	on Quantity Notices:	3 -				otal days added to		0
Am	ount of this Construction C	Quantity Adjustment	\$3,310,893.80		New Contr		e to Substantial C		1090
		d Contract Amount:			Currer	nt Subt	tantial Completion	Due Date	10/29/202
STIFICATION FOR T provide additional	THE QUANTITY ADJI	ISTMENT:	24.82%	ates for execution of	the Capital Stree	ot Res	surfacing Prog	rem,	
	Description			Unit	Unit Price		Quantity		Total
OJECT MOBILIZATIO	ON			Each (EA)	\$0.00	x	a		\$0.00
LING MOBILIZATION	N			Each (EA)	\$789.48	X	10	*	\$7,894.80
LING			Sau	are Foot per Inch (SF/IN)	50.11	X	2800000		\$308,000.00
LINGS to be RETAIN	ED BY CONCTRACT	OR		Cubic Yard (CY)	-\$3.25	Х	10000		-\$32,500.00
the second secon	AVEMENT EXTRUD	Control of the Contro		Square Foot (SF)	32.37	X	10000		\$23,700.00
American Company of the Company of t	PAVEMENT Pre-Form		walk	Square Foot (SF)	\$12.43	X	-1500		-\$18,645.00
The second secon	PAVEMENT Pre-Form			Square Foot (SF)	\$400.00	X	60		\$24,000.00
ING MOBILIZATION				Each (EA)	\$1,554.82	Х	50	=	\$77,741.00
A	1000			Ton	\$84.10	X	32500		\$2,733,250.00
NCRETE MOBILIZAT	TON			Each (EA)	\$517.78	Х	50	-	\$25,889.00
OCATION AND INSTALL	ATION OF STREET NAME	E/STOP SIGNS		Each (EA)	\$368.43	X	-200	=	-\$73,686.00
M WALL			30 Page 12 10 10 10 10 10 10 10 10 10 10 10 10 10	Cubic Foot (CF)	\$16,67	Х	2000	#	\$33,340.00
WDARD CURB				Linear Foot (LF)	\$17.28	х	700	*	\$12,096.00
OT PINNED CURB				Linear Foot (LF)	\$8.58	Х	-500	*	-\$3,290.00
RB AND GUTTER				Linear Foot (LF)	\$20,13	Х	12000		\$241,560.00
OLLED CURB				Linear Foot (LF)	\$11,12	X	-500		-\$5,560.00
	CONSTRUCTIO	ed to completion	time:	OUNT (including	sencond pag	ge):	\$3,310,89	3.80	_
-		Ztex Constru	TION INC.						
	paguin Day	•	, of	ZTEX Constru	ection Inc		agree and aco	ept the ter	ms and
conditions Signature	of this construction q	uentity notice.	2			Data:	02/1	7/202	2
CITY OF EL PAS	O (OWNER)		- AND - 11						
			eby authorize and di	ect the Contractor to p	roceed with additi	onal v	vork as deacrib	ed in this	form,

CITY OF EL PASO CONSTRUCTION QUANTITY NOTICE - Pg. 2

QUANTITY NOTICE NUNMBER: 1		DATE:	February 11, 2022			X SCOPE CHANGE			
PROJECT:	Street Resurfacing 2019		SOLICITATION NO.	2019-882			CONSTR	UCTION CHANGE	
			_			-	•		
Project Number	0				PU	RCAHSE OR	DER#	2200000071	
Class	0 532		-						
Department Fund	2560								
Account	522270								
-)(23.0								
Des	scription		Unit	Unit Price		Quantity		Total	
4" ROLLED CURB			Linear Foot (LF)	\$17.92	х	-500		-\$8,960.00	
DRIVEWAY CURB			Linear Foot (LF)	\$17.15	х	1000		\$17,150.00	1
4" SIDEWALK			Square Foot (SF)	\$3.87	Х	130000		\$503,100.00	
6" SIDEWALK			Square Foot (SF)	\$4.49	X	-1000	-	-\$4,490.00	
CONCRETE TINT			Square Foot (SF)	\$1.12	Х	5000	=	\$5,600.00	
STAMPED COLORED CONCRE	TE		Square Foot (SF)	\$8.20	Х	-5000	=	-\$41,000.00	
RESIDENTIAL DRIVEWAY			Square Foot (SF)	\$5.54	Х	10000		-\$55,400.00	- 9
COMMERCIAL DRIVEWAY			Square Foot (SF)	\$6.17	Х	-2000	=	-\$12,340.00	- 8
ADA CURB CUT			Square Foot (SF)	\$6.50	Х	-30000	=	-\$195,000.00	
PREFORMED TACTILE WARNI	NG TILE		Each (EA)	\$200.00	Х	100	=	\$20,000.00	
FLOWABILE FILL			Cubic Yard (CY)	\$92.23	X	-2000		-\$184,460.00	
APRONS FOR UTILITY VALVES			Each (EA)	\$122.23	Х	-1000	=	-\$122,230.00	
SPECIAL TRAFFIC CONTROL			Hour (HR)	\$83.34	Х	1000	-	\$83,340.00	
APRONS FOR UTILITY MANHO	LES		Each (EA)	\$222.30	Х	20	=	\$4,446.00	1
MAN HOLE RING RISER			Each (EA)	\$96.70	Х	-300	-	-\$29,010.00	
ADJUST TO GRADE UTILITY B	ox		Each (EA)	\$211.20	Х	-50	=	-\$10,560.00	
ADJUST TO GRADE MANHOLE			Each (EA)	\$93.40	Х	-50	=	-\$4,670.00	- 1
ADJUST TO GRADE MONUMEN	NT		Each (EA)	\$52.30	X	0		\$0.00	
ADJUST TO GRADE WATER V	ALVE	11,400	Each (EA)	\$87.30	X	-300	=	-\$26,190.00	
MOBILIZATION FOR BASE OPE	RATIONS		Each (EA)	\$517.80	Х	10	-	\$5,178.00	
BASE REPAIR			Cubic Foot (CF)	\$1.26	Х	10000	=	\$12,600.00	
			- 178a - 188an	Name of the last	Х		=	\$0.00	
					Х			\$0.00	
					Х	(E)	*	\$0.00	
		10.0			х			\$0.00	
					Х			\$0.00	
a Kiloman V					х			\$0.00	
					х			\$0.00	
			v	=	х			\$0.00	
					х			\$0.00	
	TOTAL CONSTRUCTION	QUANTIT	Y NOTICE AMOUN	IT:	59.5	\$3,310,8	93.80		
Consecutive calendar da	ys added to completion time:		0						
	Project Manager recommend	le nonmuni:	a + =	hin	4	1			
	Project Manager recommend	is approvai;	Eurones	Just		7	- 20_	- 127-11	
_ 151	and a Bittelia AA		HILK	t .					
Engine	ering Division Manager recommend	s approval:	·······································	3					
	Financing Departme		<u>-</u>						
	(If Required)							

		REQUEST FOR	PO INC	REASE/DECK	EASE FU	RCUN	
	QUANTITY	NOTICE NO: 1	DATE-	February 11, 2022		x INCREA	96
PROJECT:		Street Resurfacing 2019		SOLICITATION NO.	2019-882	DECRE	
				_			
	Project Number	,					
	Cla: Departme				PURCHA	ASE ORDER #	2200000071
		d 2560					
	Accou						
CONTRAC	TOR NAME:	Ztex Construction Inc	_		_		
CONTRAC	TOR NAME:	Ziex Construction inc					
		AS A RESULT OF THIS CHANGE OR	DER, PLEASE M	AKE THE FOLLOWING ADJ	USTMENT TO TH	E PUCHASE ORDER:	
LINE		ADDED AMOUNT					
	1	\$3,310,893.80		тот	AL NET CHANGE		
100					O PURCHASE ORDER		
		0			OKDEK		
0	-	0	- >	:	\$3,310,893.80		
	-	0			(should mate	th cost below)	
	_				·	,	
		0					
		0					
		0					
	-	0					
	-	0					
-	-	0					
	_	0					
	_	0					
		0					
		0					
		0					
	_	0					
			-	TOTAL	CHANGE ORDER AN	MOUNT:	\$3,310,893.80
		Pr	oject Manager _	autorio	Bur	tell	<u> </u>
		Engineering Division Manager recomme	ends approval:	Hawlet	227		
		0	et Compliance		U		
		Contra	ct Compliance				